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Device Address Assignment Guidelines

The following chart illustrates the device address assignment method. The most significant digit of an address is shown in the column to
the left of the chart. The least significant digit of an address is shown in the row across the top of the chart. For example, the 2 biock
starting address is hex 40.

Notes:

1. Only one device can be assigned to an address.

2. When the columns for devices with addresses 00 through 3B are full, use the work area (addresses OC through 3F).

3. All addresses are shown in hexadecimal notation.

< Fixed Assignment Area
(00 to 3F) w
<«——— Work Area
0 1 2 3 4 5 6 7 8 9 A B C D E F

0
1
2
’ L2

2 Device { 4 Device { y
4 |start start

addr (40) addr (48)
5

8 Device
6 |start {

addr (60)
7
8

16 Device {
Q |start

addr (90)
A
B

32 Device
¢ S e 1
D
E
F

<— Variable Assignment Area /

(40-FF)
Sequence Part EC 374831
7700AA 1o0f2 6826722 7-1-78
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Sequence Part EC 374831

7700AA 20f 2 6826722 7-1-78
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See MAP 0010, 08.01.04,
for more information



